Okehampton College
[image: ]
Mathematics
Year 7
Summer Term Review
Name:

Core and Higher
	Topic 1
	Fractional Thinking – Addition and Subtraction of Fractions

	Topic 2
	Lines and Angles – Geometric Reasoning

	Topic 3
	Reasoning with Number – Developing Number Sense

	Topic 4
	Reasoning with Number – Prime Numbers and Proof

	
	Answers





Introduction – how to use this booklet
This booklet is to help you review and revise the key topics covered towards the end of the academic year (and mostly by remote learning).
Early in the Autumn term you will have a written assessment on questions from these topics and your performance will help your teachers plan how to support you next year.
Each section contains a Knowledge Organiser on the topic, followed by practice questions (Core and Higher level).  The answers are at the end of the booklet.
If you have completed most of the remote learning lessons set on Class Charts, you may still like to use this booklet to review what you have learnt and help you prepare for the assessment.  
If you have not been able to complete many of the lessons, the knowledge organisers should help you catch up on the topics and answer the practice questions.  You should check your work against the answers and if necessary, go back and correct any mistakes.
You will still be able to log in to the Sparx lessons (codes given on Class Charts for your class) until 31st July, so you can use this resource to catch up on some topics and practise the skills.

If your maths group is 7x/Ma1 or 7y/Ma1, you should be able to answer the Core questions but may like to concentrate on the Higher questions.  
For all other students, you should concentrate on the Core questions (though of course you are welcome to try the Higher ones as well!)
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	Year 7 Core – Addition and Subtraction of Fractions Questions
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	Year 7 Core Questions – Addition and Subtraction of Fractions 
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	4. 
	In the fraction pyramid, the number in each box is the sum of the two numbers below.
Is the number on the top box greater than 5.25?
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	Year 7 Core Questions – Geometric Reasoning 
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	Year 7 Core Questions – Geometric Reasoning 
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	3. 
	One of the angles in a triangle is 38˚. Another angle is twice the size of the first angle. What is the size of the third angle?
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	5. 
	The diagram shows three straight lines intersecting at a single point. Work out the value of and 
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	6. 
	Two isosceles triangles are joined to form a kite.
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Year 7 Higher Questions - Geometric Reasoning
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	Year 7 Core Questions – Developing Number Sense 
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	9.
	Estimate 
	10.
	Estimate 
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	3. 
	Find three different ways to multiply 16 by 50 using factors.
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What are the correct answers for the statements you have not circled?
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Year 7 Higher Questions - Developing Number Sense
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	Year 7 Core Questions – Prime Numbers and Proof 
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	2. 
	Use the clues to find four consecutive numbers that fit in the boxes.
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	3. 
	Write a common factor of  
	4. 
	Complete a factor tree and give the number as a product of its prime factors.
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After how many minutes will the trains next line up in the same position?
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Aisha thinks the median must be 3.5 as the greatest number of 4 and 3.5 is in the middle.

Give a counter-example to Aisha’s conjecture.



_____________________________________


Year 7 Higher Questions - Prime Numbers and Proof
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	Year 7 Core Answers – Addition and Subtraction of Fractions 
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Year 7 Higher Answers - Addition and Subtraction of Fractions
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	3. 
	One of the angles in a triangle is 38˚. Another angle is twice the size of the first angle. What is the size of the third angle?
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Year 7 Higher Answers - Geometric Reasoning
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Year 7 Higher Answers - Prime Numbers and Proof
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© Train A takes 15 seconds to complete a circuit.

© Train B takes 20 seconds to complete the circui

© Train C takes 35 seconds to complete the circuit.
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The range of five numbers is 1

The smallest number is 3
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Explain why this diagram does not show%

It is not split into equal parts.
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‘You may use the bar model to help you.
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‘What fraction is the arrow pointing to?

0 [ 2
H
—_
‘What do you need to add to this fraction to
make 2?
11
6




image97.png
Calculate.
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Complete the part-whole model. 9
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Write the mixed numbers as improper fractions.

3
31 = [
4 4

42
3 3
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5 1
Calculate 3=+ 2=
12 3

I mark for correct method with one error.

52/52/20e
12 4 4
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Calculate % +0.6

0.85/=
20
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Compare using <, > or =
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5 2
a==andb ==
6 3

Calculate

a—-b=





image104.png
: 2. B
Jay drinks 73 litres of water in a week.
Amina drinks 52 litres of water in a week.

How much more water does Jay drink than
Amina?

I mark for correct method with one error.

11
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Write as a single fraction.
2x 3x

510

7x
10
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Explain why this diagram does not show%
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AB is a straight line.
A

(750
(75
x
T B

Work out the value of the angle labelled x.

x = 105°

Give a reason for your answer.

Angles on a straight line add up to 180°
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Work out the size of the missing angle in each
triangle.

m =53°
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Jack writes the following calculation to find y.

159 +52 =211

360 — 211 = 149

Explain why Jack is wrong.

y =149°

Jack is wrong because he has forgotten to include
the right angle in his calculation.

159 + 52 + 90 = 301
360-301 =59
Work out the correct value of y.  y =59°
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‘You may use the bar model to help you.
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One angle in an isosceles triangle is 50°
What could the size of the other two angles be?
Give two possible answers.

Solution I:  _20°  and _80°

Solution 2: 65° and 65°
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Label these angles as acute, right,
obtuse or reflex:

/<TL

obtuse

>/L

acute reflex
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Calculate the acute angle BOC:

angeBOC= | B7°





image124.png
The straight line segments AE and BD cross at the
point C.

Complete the sentence using a word or words
from the box.

Perpendicular  parallel  vertically opposite

£ACD and £BCE are vertically opposite

What is the size of 2DCE?

29°
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A triangle has the following three angles: a, 2a and
3a.

Form and solve an equation to find the size of the
largest angle in the triangle.

a+2a+3a =180 (I mark)

6a = 180

a=30 (I mark)

Largest angle = 3 x 30 90° (I mark]
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ABCD is a quadrilateral.
ADE is a straight line.

Work out the value of angle CDE.

s angle sum of quadrilateral (I mark) 30°(| markl
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Calculate the size of angles a, b and c.

31°

Ta

S7°

a=3° b= 92° c=31°
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What is the size of each angle in a regular
hexagon?

ark for any correct method 120° (1 mark)
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‘Work out the value of x.
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0

3x=180
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‘What fraction is the arrow pointing to?

‘What do you need to add to this fraction to
make 2?
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) Work out the sizes of the unknown angles.
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Tick the calculations that are equivalent to
328+ 972

328+ 100 -3

325+ 100

320+90+8+7
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Work out 4.6 +19.9

24.5
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Tick the boxes to show whether the statements
are true or false.

True | False

2X4X3=4x6 v

60X 12=60xX10X2 v

12 X 25 =3 x 100 v
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Alison buys jeans, a t-shirt and a bracelet.

Nlz|ls

£19.99 £8.99 £4.79

Find an estimate for the total cost.

£ 34

Work out the exact amount she pays.

£33.77

She pays with two twenty-pound notes.
How much change does she receive?

£623

How much more money does she need to buy
another t-shirt?

£276
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Calculate.
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There are 200 chairs at a school.
gof the chairs are in the main hall.

The rest are shared equally between 4
classrooms.

How many chairs are in the main hall?

80

How many chairs are in each classroom?

200-80 =120
30
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Use >,< or = to make the statements correct.

323 +23 @ 323 + 32
900 - 18 @ 100 +2
228 x5 @ 115 % 10
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Use the information that 74 X 29 = 2146 to find
the missing numbers.

74x29=__ 2146
2146 + 74= __ 29

074 X29=2146
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The diagram shows 2a +b =8

Use the diagrams to help you work out the values
of these expressions.

[
a
sa+20=_16 [a]
[4]
[]
2a+b+3=_11
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Complete the part-whole model. 9
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4 3 27 37

From the numbers in the box, write down:
* Afactor of 16

4
* A multiple of 6

30
*  Afactor of 63 and multiple of 7

21

*  An odd number that is greater than 30

37
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Match the sequence to its name.

2,3,57,... Square numbers

1,4,9,16, ...

Triangular numbers

INSNGHI QN Prime numbers
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Write down a prime number between 40 and 50

41,43 or 47




image155.png
What is the highest common factor of 16 and 36?

I mark for correctly listing the factors of 16
and/or 36
4

Explain why 2x is a common factor of the three
expressions below.

4x? 8xy 6wx
Shows that 2x is a factor

4x? = 2x X 2x
8xy = 2x X 4y
6wx = 2x X 3w

eg
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Two lights flash together.
The red light then flashes every 8 seconds.
The blue light flashes every 6 seconds.

After how many seconds will the lights flash
together again?

| mark for correctly listing the first 5 multiples of
6 and/or 8
24 seconds
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‘When you add two prime numbers, the
total is always even.

Give an example to show this is false.

Any example that includes 2 as one of the prime
numberseg.2+5=7

The sum of two consecutive integers is odd.
Give an example to show that this is true.

Many possible solutions e.g. 3 +4 =7

Show that there are exactly 3 square numbers
between 20 and 50
2 _
gg ; ;g 7 Exactly 3 square numbers
62 =36 between 20 and 50.The
72 — 49 preceding and following square
8?2 = 64 numbers are out of this range.
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Express 72 as a product of its prime factors.

/\
©

/\

@

@

72
36
PN

9

/N

®

®

I mark for correctly
breaking 72 down into its
prime factors. Allow |
error.

72=2X2X2X3Xx3
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Find the lowest common multiple of 45 and 63

45 63
I mark for breaking 45

and 63 into their prime
factors.

| mark for accurately completing aVenn diagram.
| mark for correct LCM.
OR

I mark for correctly writing first five multiples of
45 or 63 (2 marks for both correct).
I mark for identifying LCM = 315

LCM =315
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Jane has 24 Iollies, 60 chews and 96 chocolates. She wants to arrange the
sweets into identical packets, without having any sweets left over.

a) What is the maximum number of identical packets Jane can make?
2 (hcf of 24, 60 and 96)
b) How many of each type of sweet should Jane put in each packet.
2 lollies, 5 chews and 8 chocolates
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Write the mixed numbers as improper fractions.

N 0 1 2 3 4
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5 1
Calculate 3=+ 2=
12 3
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Calculate % +0.6
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Compare using <, > or =
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5 2
a==andb ==
6 3

Calculate
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N 2. .
Jay drinks 73 litres of water in a week.
Amina drinks 52 litres of water in a week.

How much more water does Jay drink than
Amina?
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Write as a single fraction.

2x+3x
510
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Write five fractions that are equiy




image16.tmp




image17.tmp
Solve the equations.
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The diagram shows a cake box.

A 25-inch ribbon is used to wrap around
‘the base of the cake box.

How much of the ribbon will be left over?
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Solve the equations.
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I 5 = 2, work out the value of these expressions.

Give your answers as mixed numbers.
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AB is a straight line.
A

\’75'
X B
Work out the value of the angle labelled x.
x=

Give a reason for your answer.
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Work out the size of the missing angle in each
triangle.
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Jack writes the following calculation to find y.

159 +52 =211

360 — 211 = 149

Explain why Jack is wrong.

y =149°

‘Work out the correct value of y.
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One angle in an isosceles triangle is 50°
‘What could the size of the other two angles be?
Give two possible answers.

Solution I: and

Solution 2: and
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Label these angles as acute, right,
obtuse or reflex:

/G_
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Calculate the acute angle BOC:

angle BOC =





image35.png
The straight line segments AE and BD cross at the
point C.

B
Complete the sentence using a word or words
from the box.

Perpendicular  parallel  vertically opposite

£ACD and £BCE are

What is the size of 2DCE?
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A triangle has the following three angles: a, 2a and
3a.

Form and solve an equation to find the size of the
largest angle in the triangle.
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ABCD is a quadrilateral.
ADE is a straight line.

Work out the value of angle CDE.
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Calculate the size of angles a, b and c.
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What is the size of each angle in a regular
hexagon?
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Work out the value of x.
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Find the size of angle x.
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465

160°
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is 83° because

or
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Work out the sizes of the unknown angles.
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Tick the calculations that are equivalent to
328+ 972

328+ 100 -3

325+ 100

320+90+8+7
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Work out 4.6 +19.9
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Tick the boxes to show whether the statements
are true or false.

True | False

2X4X3=4X6

60X 12=60xX10X2

12X 25=3x100
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Alison buys jeans, a t-shirt and a bracelet.

% || &

£19.99 £8.99 £4.79

Find an estimate for the total cost.

£

Work out the exact amount she pays.

£

She pays with two twenty-pound notes.
How much change does she receive?

£

How much more money does she need to buy
another t-shirt?
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There are 200 chairs at a school.
gof the chairs are in the main hall.

The rest are shared equally between 4
classrooms.

How many chairs are in the main hall?

How many chairs are in each classroom?
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Use >, < or = to make the statements correct.

323 +23 Q 323 + 32
900 - 18 Q 100 +2
228 x5 Q 115 % 10




image60.png
Use the information that 74 X 29 = 2146 to find
the missing numbers.

74x29=
2146 + 74 =

X29=2146
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0 The diagram shows 2a +b =8

Use the diagrams to help you work out the values
of these expressions. 0

]
o 0
4a+2b= lal

2a+b+3=
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Work them out mentally.
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o) 24:4=

b) 32x3=

 032:8=

& 17x7=
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3 of anumber is 36

What

4 of the number?
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Here is a multiplication fact.
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17x39=663
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Use the fact to work out the calculations.
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@) 170x39=

b) 17390 =]

9 17x39=

9 39x17=
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1 5 = 5, circle the correct statements.
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n=10
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n_
=10

21 =10
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x+y=12
Fill in the missing value 10x + 10y =
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4 3 27 37

From the numbers in the box, write down:
* Afactor of 16

* A multiple of 6

*  Afactor of 63 and multiple of 7

*  An odd number that is greater than 30
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Match the sequence to its name.

2,855,700

1,4,9,16, ...

1,3,6,10,...

Square numbers

Triangular numbers

Prime numbers
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Write down a prime number between 40 and 50
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What is the highest common factor of 16 and 36?

Explain why 2x is a common factor of the three
expressions below.

4x? 8xy 6wx
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Two lights flash together.
The red light then flashes every 8 seconds.
The blue light flashes every 6 seconds.

After how many seconds will the lights flash
together again?

seconds
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‘When you add two prime numbers, the
total is always even.

Give an example to show this is false.

The sum of two consecutive integers is odd.

Give an example to show that this is true.

Show that there are exactly 3 square numbers
between 20 and 50
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Express 72 as a product of its prime factors.




image82.png
Find the lowest common multiple of 45 and 63
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Jane has 24 Iollies, 60 chews and 96 chocolates. She wants to arrange the
sweets into identical packets, without having any sweets left over.

a) What is the maximum number of identical packets Jane can make?
b) How many of each type of sweet should Jane put in each packet.
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Jack and Kim complete a test.
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‘The highest possible score is 80 marks.
Jack's score is a multiple of 9
Kim's score is a multiple of 7

Kim scored 16 fewer marks than Jack.
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‘How many marks did Jack score out of 80?7
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Three toy trains are on different tracks.

Kim lines up the trains and sets them off.




